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Aptitude & Mental Ability Set 2
1. 7 men can complete a work in 52 days. In how many days will 13 men finish the same
work?
a. 26 b. 27 c.28 d. 29
7 9,600T56T 62 ([H GeUemeveml 52 [HITL_& 6160 (LNLQ LILIMTT& 6T 6T60T160 13 600755 61T
I1B5 CeUmELENL 678G 6M60T HITL_G6N160 (LNLY LILITT&H6IT?

3. 26 3. 27 @). 28 . 29

Solution

if 7 men complete a work in 52 days is as written as
7 men =52 days

1 men =7/13 days

13 men =7/13 x 52

13 men = 28 days

2. Base area of right circular cylinder is 80 cm? . If the height is 5 cm then the Volume is

a. 400 cm3 b. 16 cm?3 c.200 cm? d. ‘*?)ﬁcm3

@@ CHIalL L 2 HeneTuller 919 LIse LITLL 80 &.Q&.19. 9|560T 2 WL 5 QF.L05.

6TE0T16L 2|5 60T 5607 3616
3. 400 cm?® <. 16 cm? @). 200 cm? T ‘?cmB'
Solution

area of right circular cylinder = 80 cm?
mir? = 80 cm?

h =5cm

Volume = mr?h

We know nir?2= 80
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Volume = mr2h = m+ 2 *5= 400 cm3

T

3. Find the simple interest on Rs. 7,500 at 8% per annum for 1 % years.

a.Rs. 800 b. Rs. 900 c. Rs. 8,400 d. Rs. 10,000
€. 7,500 8@ 8% GUL_1Q 6f& LD (H UIHLLD 6 LTSI EHE S 60T 6ol 6L 196m IS
& T600T .

o e5.800 o4.900 @). 8,400 FF. e 10,000

Solution
Given

P =7500
N=1 % years

R=8%

SI:%

100

7500%3%8
100%2

SI= =Rs.900

4. If one fifth of one third of one fourth of a number is 2 then the number is
a. 50 b. 60 c. 100 d. 120
&1J 6T600T6001160T BHH6L 6 ([H LIMIGH 60T eLN6OTNII6V 62(IH LITHIG 60T [HIT6T T 6V 62(IH LIMKIG
2 6760116V 611G 6) 650T

39|.50 34, 60 ©@.100 Fr. 120

Solution
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X=60x*2
X =120

5. A silver wire when bent in the form of square encloses an area of 121 sq.cm. If the
same wire is bent in the form of a circle. Find the radius of Circle.
a.llcm b.7 cm c.3.5cm d.14 cm
6(H QeueiTerl BLIDLIemW UeMeTH S @ FSITLOMES MTHMUILGSRMS. FS51755) 60T
LUTLIL 121 5.0F.15 . 9185 sLnLen alemeTs Sl 62(H UL L LTS LOMMMI60TITeL 3 H &
QUL L &5 60T QL ITLD 6T60T60T?

9. 11 Q&.L0. 3. 7Q&F.14. @). 3.5 QF.19 .14 Q&.10

Solution

Area of a square = a®
121 = a?

a=v121

=1lcm

perimeter of square=4a
=4x11

= 44cm

perimeter of square=perimeter of circle
44 = 2nr

R=44*222

R=7cm

6. Simplify (i)‘2 _3 x 8 x4 + (i)%1
a.0 b.1 c.2 d.8
FHHSS. ()72 -3 X 85 x 40 + (i)%1
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3.0 T | @. 2 F. 8

Solution
Q=16
2
8:3=4
49 =1
1.2 _
()7 =4
sub above values in the question

2 -1
(72—3 x 8:x 4%+ ()2 =16~ 3*4*1 + 4

=16-12+4
=20-12
=8

7. 1f2+3=89,3+4=8164,4 +3=6481thenl +2="?
a.24 b.14 c.12 d. 10
2+3=89,3+4=8164,4 + 3= 6481 eTevfl6v 1 =+ 2=?
9|.24 3. 14 @. 12 r. 10

Solution

2 + 3 =89 in this 3 is taken as the power for 2 and then 2 is taken as power for 3
23 =8 and 32 =9 just take the other number to the power

3 + 4 = 8164 in this 4 is taken as the power for 3 and then 3 is taken as power for 4
3% =81 and 43 =64 just take the other number to the power

Like above

For 1+ 2 =12 in this 1is taken as the power for 2 and 2 is taken as the power for 1.
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8. Mean of 100 observations is found to be 40. At the time of computation two items were
wrongly taken as 3 and 72 instead of 30 and 27. Find the correct Mean.
a.39.82 b. 40.18 c. 41 d.42.5
100 erevorss6rfledt Fmaifl 40 eTedTm) &HMevoT LI L Gl. S600T&H (LD CBHT&H 3 6v 30
LOMMILD 27 6T6dTm @) (H eNl6UTMHIG6T 3 LDMHMILD 72 6T60TE 5561 MIS5 60T

TS SHQSTETATLILL L & 6TeT QS UG eTevflev Siflulment &Frmeiflemuls

G IT600TSs.

3. 39.82 94, 40.18 @Q@. 41 . 42.5
Solution

Mean = Sum of number

Total numbers

Sum of 100 numbers = 40 x 100 = 4000
So mistake is in the sum which reads 3 and 72 instead of 30 and 27
so the new sum of number is
=4000-3-72+30+27 =3982
3982

So the correct mean = Yoo 39.82

9. Dis taller than C but not as tall as B, C is taller than A. Who among A, B, C and D is the
tallest.
a.A b.B c.C d.D
D er6dTLIGUT CE3 6L 2_WIFLOTEOTEUIT, 34,60TT6V B 9466y &G 2 wLdlevemey, C
eTedTLIOUT AS3 el 2 WITLDmeoTel [ 6Teoflev A, B, C LDMMILD D-60 2 WIFLOMeoTeU [ WIT?

3. A 3. B @.C F.D

Solution
D is taller than C

DisnotastallasB
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10.

11.

12.

Cis taller than A but not taller than D
So B is the tallest.

If 2x +y =15, 2y +z = 25 and 2z +x = 26, what is the value of z?
a.4 b.7 c.9 d.11
2x +y =152y +z = 25 IDMMILD 2z +x = 26, 6T60T16V z 60T LD\ L1L| 6T60T60T?

9.4 3. 7 @.9 FF. 11

Solution
By solving equation 1and 2 we geteqn4as4x -z =5

When we solved eqn 3 and 4 we will getz =11

Find the odd man out in the following:

1,5,14,30,50,55,91

a.5 b. 50 c.55 d.a1

LY edTeu (HLD 6T600TS6T Q&ML TeUflemaFullev QUIMHIHS TS 6T600T60)600TE &5 TE0OTs.
1,514,30,50,55,91

3.5 34 50 @. 55 . 91

Solution

5-1=4 (square of 2)

14 — 5 = 9 (square of 3)
30 — 14 = 16 (square of 4)

50 — 30 = 20 which is not a square of 4 so the wrong number is 50

Find the area of the following shapes
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2m 2m
5m 5m
Tm 7m
4 m
8 m
a. 26 sq.m b. 36 sq.m c. 46 sq.m d. 56 sq.m

FBLDEHE00TL 2_(HeUSHH 60T LITLIL| &HIT600T 5.

2.8 2.8
5.8 58
78 78

48

8
3. 26 &.15 .36 &.18 @). 46 &.15 IF. 56 &.10
Solution
Area=1*b

Area of outer rectangle — area of inner triangle

(8*7)—-(5*4)=56—-20=36sqm

13. Find the greatest number that will divide 51, 99, 191 so as to leave the same reminder in
each case.
a.4 b.7 c.9 d.8
51,99, 191 9, &\ LI 6T600TE6M6T 6TH& L& L1 QLU 6TE00T600TITEV 61 (&8 G LD QUMD S
LSS FLOLDMS HemL & @GL0?

3.4 3. 7 @.9 [F. 8
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Solution
51 divide by 4 leaves remainder 3
99 divide by 4 leaves remainder 3

191 divide by 4 leaves remainder 3

14. Find the difference between simple interest and compound interest on Rs. 2,400 at 2
years at 5% per annum compounded annually.
a.Rs.5 b.Rs. 6 c.Rs.8 d.Rs.7
€. 2,400 & @& 5% 24,600T(H) QUL_Lq 651D 2 3 evoT(h&6fleL B &G LD Fal ()
QL I95GWD Seoflall 19.865@LD 2 6Tem &S UIMEFLD 85Te0oTss.

9. €. 5 4. ep. 6 Q). ep. 8 FF. €. 7

Solution
Given

P =Rs.2400
T =2 years

R=5%
SI = PNR

100

_ 2400%2%5
100

SI=A-P

SI = Rs.240

A=p(1+)"

100
_ 5 N2
—2400(1+100)

_ 2400%105%105
100%100

Difference between CI and SI =246 — 240 =Rs. 6

=240

3— 3 - - - -
15. If g and % are the two rational expressions, then their product is
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a%+ab+b? a’?—ab+b? a’?—ab-b? a%?+ab+b?
" a?—ab+b2 " aZ+ab+b? " aZ+ab+b? " a2—ab-b2
a+b a3-b3

— DO === T Wer @ RGN G5 ITEnI6UTHET 6160116V 361 M Ml 6oT

QLI(HE 6V LIGVEDT.

a%+ab+b? a?—ab+b? @ a?—ab-b? a?+ab+b?
" a2-ab+b? " a2+ab+b? " a2+ab+b? " " a2-ab-b2
Solution

3_13
atb L, a’-b

a-b a3+b3

From algebraic formula
a3 —b3 =(a—- b)(a®+ab+Db?)
a3 +b3 =(a+ b)(a? —ab +b?)

a+b , (a- b)(a’+ab+b?)
a-b (a+ b) (a2—ab+b?)

a%+ab+b?
a2—ab+b?

16. Find the total area of 14 squares whose sides are 11 cm, 12 cm, ..... 24cm.
a. 4415 sq.cm b. 4055 sq.cm. c. 4155 sq.cm. d. 4515 sq.cm.
11 Q&.105,12 Q&F .15, ........ 24 Q&F.15 QLR UeUMeNM LISGSHMBIGH6TTES G185 Mool 14

FSITHIG6 6T QLOMSSS LITLIL| &ITe0oTds.

3. 4415 5.0 &.18 3. 4055 F.Q15.19
@). 4155 &.Q&.15 FF. 4515 &.Q &.18
Solution

To find the total area of 14 squares we have to apply the formula for sum of squres of n
natural numbers.

Sum of squares of n natural numbers = An+1)(2n+1)

Total area of 14 squares = 112 + 122 + .............. + 242
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17.

18.

We have to find sum of squares from 1 upto 24 and subtract the sum of squares of nos

from1to10

When we substitute in the formula

_ 24(24+1)(2#24+1) _ 10(10+1)(2*10+1)
6 6
_ 242549 _  10(11)(21)
6 6

4900 - 385 = 4515 cm?

The value of an old car is Rs. 45,000. If the price is decreased by 15%, find its new price.
a. Rs. 38,250 b. Rs. 39,350 c. Rs. 40,250 d. Rs. 41,250

@ LienLpwl &Tifler aflemev €. 45,000/- 915601 ellemeuuiev 15% &60Me6) 6760t 16V
@UQUTW S &H60T LB U 6)16M6V 6T60T60T?

3. emp. 38,250 34, €h. 39,350 @). em. 40,250 [F. €. 41,250

Solution

Old car price = Rs.45000

Price decreased by 15%

= 45000 * — = 6750

New price = old price — decreased price

New price = 45000 — 6750 = Rs. 38250

The ratio of the speed of the three carsis 2:3:4. What is the ratio of times taken by
them in covering the same distance?

a.2:3:4 b. 4:3:2 c.43:6 d.6:4:3

eLNETMI STHS6T 2:3: 4 6TedT NG CousEHFH 60 QF6TMTEL 3H S LN 6T
SHTIHEBLD @@ GMILLLL &0 STTHMS &858 6T(hH S8 C&MeTEHLD
GrrmIsserfler a5 585 6m 585 & Mevorss.
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19.

9.2:3:4 3. 4:3:2

Solution

©.4:3:6
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F.6:4:3

If the distance=x, time taken to cover the distance will be inversely proportional to its

speed,
=(2):(5): () =(2):(£):(£)=6:4:3

Ifp=9then p(p2+3p+3)+1=2
a.10 b. 100 c.1000

p =9 ereofleL 3/p(p? +3p+3) +1 =7
1.10 <1100 @). 1000
Solution

Sub val of p in the eqn

Yp(P2+3p+3)+1

Yp(92+3%x9+3)+1

Vo(81+27+3)+1
Yoain +1

V999 +1

Y1000 =10
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d. 10000

FF. 10000
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